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Report No.: 2202TW0101-U3

Type 5 Radar Waveform_7

Buor =t ol e Chirp Huomber of
OFfFf=et 2 Puoul=se=s per [PET—1 f{(oas) |[FET—F (o<} |[FET—F {(a=s)
[ Wideth (o=l B =5
241175, 0 E1.9 1 1E7vE. 0 — —
SEzEll. O @4, S 19 = 1E3@. 0O 1O77. 0 101s. 0O
E4ESZE. O TI. O 19 = 1avs. 0 117s. 0 —
GOS45. 0 Tro1 19 = 1545 0 1301 .0 —
221893, 0 TE. & 19 = 1126, 0 1551. 0 —
SYS0S50. O E5. & 19 1 lezz. 0 — —
EZTE45. O TO. 9 19 = 1151, 0 1194, O —
S0467. 0O ar. o 19 = 1376, 0O 1162 0 1502 0
ZoZE9S. O 1.1 19 = 1954, O 1333, 0 —
SEAESG. O S5, 0 19 = 1948, O 1486, O 1153, 0
E0S00Z. O S5. 0 19 = 1oos. O 1EE5E. O 19s7T. 0
S1715. 0 arv. 3 19 = 1430, 0O 1184 0 1656 0O
124271, O =0. 4 19 = 1230, 0 1E04. O —
SETEST. 0 s2. 5 19 1 1z00. 0 — —
ASSOE0. O o4, S 19 = 1Z7a. 0O 1@z, 0 F ==
13025, 0 655 19 1 1496 0O — —
15428, O Ta. S 19 = 1291. 0 17EE. 0O —
SlS4az4. O E5. 9 19 1 195z, 0 — —
ATO4ET. O o,z 19 = 1E26E. O 1515, 0O —
Type 5 Radar Waveform_8
Boar =T Poloo Chirp HWomber ofF
OFff=et =i dikh € 3 |wideh Pulze= per |[FET—1 f(u=) [PET—=2 (u=x) |[PRT—3F {u=xl
{oas * -= [9 s T Buor st
5@l 7S, 0 TE. & =1=] = 155E. O 10EE. O —
132530, 0 a0, 5 =0 1727 0O — —
ZS0hasz=. 0 L= e = | =0 = 1535, 0O 1=51. 0 1=Z=20. 0
AZ@11Z. O I, 1 =1=] = 1103, O 1574, 0 —
S7ySO0zZ=.0 (=== =0 1 159>, 0 — —
121761, 0 54, & =1=] 1 1554, O — —
SESTFYTS. 0 5. 5 =0 = 1040, O 1Ss5&a. 0 115=. O
4101 7S, O 85. 5 =1=] = 1744, 0O 1141. 0 1574, 0
Es4=7T0O. 0 S5 5 =0 = 1321 . O 1266 0 1025 O
103295, 0 E=E- T Y =0 = 1=Z1%. 0 191%. 0 17s4. 0O
ZaS14Z. O EERE] =1=] = 1157, 0 146z, O 1LOSE. O
mgo4aznass. 0 L= =0 1 1413=. 0 — —
ESZSE4l . O ErNE] =1=] = 17=4. 0 1ez0. 0 1Z76E. O
SsTFS=. 0 TS 1 =0 = 175, O 15354 0 —
ZEoEE0. O EENE =1=] = 1511. 0 1911, 0 199E. O
ST4905. 0 =1 = =0 = 15&7F. O 111=. 0 108=. O
szZ0111. 0 N T =0 = 11==. 0 1=a0. O —
SS0FT. 0 55. 2 =1=] 1 1945, O — —
Z1=Z2s515. 0 Tr. = =0 = 17sSS. 0O 15991 .0 —
SES1SS. O E5. & =1=] 1 1ouSE. O — —
Type 5 Radar Waveform_9
Bor=t Pl Chirp Homber of
DFF=et mi== wideh Puls=e= per |[PET—1 {a=x) [PET—=2 (=) |[PRET—F (ua=<}
(o= Width (u=) (M) Buour =it
EQ195&. O 3.5 15 = 12655, O 111=.0 —
53130, 0 [=F D= 15 1 1537, 0 — —
ZEAE4E. O 3.3 15 = 137¥=. 0 113=. 0 —
SS9ES. 0O 95, 4 16 = 1z52. O 1515, 0 17=1. 0
ETLF1S. 0 s1. 5 15 1 1407. O - —
S¥A1E. 0 83. 4 15 = 1510, 0 17E=. 0 l4ams. O
SOSE7a. 0 TE. = 16 =4 18700 1825 0 —
S¥5454. 0 &Y. 2 165 = 19351, 0 1944, 0 —
B49ETE. O e, = 165 = 177S. 0 1032, 0 —
15995, 0O 59 4 165 = 1591. 0 1970, 0 —
157214, 0 53.0 15 1 1395, 0 — —
SESTS9. 0 53.0 15 1 13ES. O — —
EZ9TF41. 0 5¥.0 15 1 12665, O — —
B T9EL. 0O 100. 0 15 = 1050, O 1EE9. 0 1z==. 0
156112, 0 [=F B 1 15 = 1574, 0 1163, 0 1555, O
SETFTS. 0 &1, T 16 1 1305, O — —
505401 . O = - 16 1 1657, O — —
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Type 5 Radar Waveform_10
Bar =t —— Chirp Humber of
Off=et '.‘1:]‘: C 3 [®ideh Pul=e= per |[PET—1 f{u=) |[PET—2 {(u=) |[PET—3 {u=)
[ = - [4 1T Buar=t
[Spei=1=F 0 N Ti1.1 17 = 15&1. 0 1250, 0 —
1=Z7F7F&S1. 0 S0, 1 17 1 1125. 0 — —
=ZosE4=. 0 T2, . 5 17 = 15=Z=. 0 1000, 0 —
459271 .0 T2, = 17 = 1==2=2. 0 1z211. 0 —
S19955. 0O [=ra.=] 17 = 192=. 0 1Z9s. 0 —
11 735=. 0 S5 5 17 =S 14==. 0O 1410. 0 1=Z=s7F. 0
ETTSES. O = = 17 = 1642 0O 1275, 0 1004, O
452 7V9s. 0 TE. 5 17 = 1=&=2. 0 1z4z. 0 -
SO0S1=2. 0 T2, 2 17 = 1=25&5. 0 1Ss9. 0 —
7415, 0 D0, 2 17 = 17v2=. 0 18=5.0 1510. 0
ZESETSES. 0O 59,2 17 = 1s29. 0 1s=Z92. 0 —
4197450 S0, 92 17 = 1==s. 0 149=. 0 —
ESO3TE. O T1. 7 17 = 15s0. 0O 1zZ9a7.0 —
Freses. 0 (=== 17 = 135=. 0 1055 0 —
=395zZ0.0 57.1 17 1 114, 0 - -
FRSS5ES. 0 25,2 17 = 1440, O 1225.0 123=0. 0
5ES171S. 0 55. 3 17 1 1&5S=2. 0 — —
ES197.0 E5. T 17 1 151=2. 0 — —

Type 5 Radar Waveform_11
Bur=st Pl Chirp Humber of
DEFFfset -i d:]‘: Py * Tidth Pulzex per ([PET—1 (o) PRET—= f(mu=x) PRET—SF (o)
{a=) * o= (M) Bur=st
233130 S50, 9 15 1 19550 — —
A401921s. 0 ST 2 1s = 152=. 0 11ss. 0 1Z205. 0
S7y1090. O 51. 4 1s 1 1554. 0 — —
A057ES. 0O 51,2 1s 1 1545, 0 - -
Z111=25. 0 T4. 5 15 = 11520 1514 0 —
SFS11=22.0 TS. 4 15 = 1535 0 15920 —
EE=Z15=2. 0 TR, 35 15 = 1=0s. 0 14900 —
19555 0 595 15 1 1132 0 — —
190255 . O 550 15 1 195=. 0 — —
FIE9QTFZ2. 0 =213 1s = 1SS0, 0 1035, 0 1005, 0
[St==1=Tsh R 230 1s = 1S5S, 0 1z2v¥0. 0 113, 0
Ss9900z. 0O E= L= 1s = 1651. 0 1s52. 0 1200, 0
15654355, 0O E=E- = 15 S 1v92. 0 1514 0 19210
SFES5=Z1.0 S35 15 S 1905 0 11950 15150
B0S5351. 0 S7.5 15 S 105, 0 19720 1545 0
SBSO57=2. 0 TE. 9 15 = 15354 0 11vs. 0 —
145295 0O B3 2 15 1 14550 — —

Type 5 Radar Waveform_12
Buor=t Pul Chirp Huomber of
DEf=et = d:].: (a=) Tidth Pulses per |[FET—1 {(u=) |[FPET—2 {(us) (PRET—3F {(u=s)
o= =) Bur=st
S85373. 0 Q95,2 13 5 1595. 0 11=0.0 1507V. 0
594920 0 BE5. 3 13 1 1357.0 — —
S01342. 0 T4. 5 13 = 1330.0 1&615. 0 -
1545135. 0 EE. 5 13 1 1=90.0 — —
SE51342. 0 e 2 13 = 144=. 0 1538, 0 —
B55517. 0 TR 5 13 = 1154. 0 1295, 0 —
TYELITI. 0O T2 1 13 = 17ES. 0 1525.0 -
125535. 0 S2.0 13 = 12=35.0 1444 0O —
3F5EZ11.0 =] 13 e 1915, 0 1159.0 1735, 0
E43TET. O ET. 0 1= 1 12E7.0 - -
TASOFS. 0 S5, 35 135 S5 1415. 0 153510 1555, 0
103459 0 57. 5 1= 1 14330 — —
jeint=l=l=F R 99, 5 13 e 1521.0 12600 1317.0
Els31s. 0 == 1= = 1532, 0 1E75. 0 1144 .0
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Type 5 Radar Waveform_13

Boar=<t Pul Chirp Humber of
DEEset = d:]‘i fa=) Tidth Fulses per |[PET—1 (u=) |PEIT—2 {(us) |[PET-—3 {(us)
{u=) {(lH=) Bur=t
S455935. 0 BG. 2 10 1 15393. 0 - -
Q0914. 0 B1.7 10 1 1253. 0 - -
3323420 94 3 10 5 1Z80.0 1041. 0 1357. 0
BEY3Z15. 0 535 10 3 1451. 0 1vO1. 0 1539, 0
S18957. 0 Td. 6 10 = 127z, 0 1974, 0 -
B1055. 0 B2, T 10 1 1554. 0 - -
F03095. 0 Ba. 5 10 1 1947, 0 - -
B44Z17. 0 556 10 5 1326. 0 1025 0 153120
TELTFRZ. 0 94 2 10 3 1702, 0 15720 1457. 0
F11zv.0 99,9 10 I 19220 1455, 0 1555, 0
2¥3313.0 BE. 3 10 1 15326. 0 - -
Rl14511.0 55,4 10 2 1540. 0 1viv. 0 -
Type 5 Radar Waveform_14
Bor=t Pulse l:]_:li:rp Homber of
C{.iﬁset width C(w=) Ild::? ﬁﬁi:s per |PET—1 {(u=) |PET—2 {(u=) |PET—3 {ua=)
BTS2z 0 Bz = 15 1 1s27. 0 — —
1051. 0 S0 5 15 = 1740, 0O 191z 0 —
15=2221. 0 E=In 15 = 111s5. 0 1535920 —
SEZ409. 0 2535 15 S 1545, 0 1547. 0 1554, 0
E43ETI. 0 854 15 3 1vi1s. 0 1033, 0 1s0s. O
TE4z4z. 0 252 15 =] 1545 0 1955 0 123s. 0
159599 0 (=L S 15 =] 12070 11520 13420
S21587. 0 [S1SP =] 15 1 12=7.0 - —
[S=sch RSt B9 0 15 1 1var. o — —
TO1S=2Z5. 0 L= R = 15 =] 1149 0 15470 1599 0
1375120 S0, 5 15 = 1s7FF. 0 10070 —
S1s2471 .0 50,1 15 1 15357, 0 - —
499745 0O =51, 7 15 = 1395 0 1554, 0 —
BSE392. 0 57. 3 15 1 1557F. 0 — —
115172. 0 TE. 4 15 = 19500 1868 0 —
Z855T1 .0 TH. S 15 = 14035, O 1=Zv2. 0 —
Type 5 Radar Waveform_15
Buouxr st Pal Chirp Hombexr of
ODEf=et '-d:ﬁ C 3 Tidth Pul=e= per |[PET—1 {u=) |[FPRT—2 f(u=) |[PET—3 {(u=)
ms * = (= ) Buor=it
509555, 0 TE. 35 14 = 1147. 0 1550, 0 —
Toze4s. 0 ¥l.3 14 = 1404, 0 1275.0 —
S5e9z. 0 951 14 =] 1516, 0 ivio. 0 11=0. 0
29295E. 0 sz, 0 14 1 1514, 0 — —
4SEEE0. O B5. B 14 1 1545, 0 — —
[=irarara == | a5 5 14 = 1=243=. 0 15z0.0 1745, 0
TEZSS. 0 ST. B 14 =] 15920 1555. 0 110z 0
25553410 ar. B 14 a5 1005, 0 1054 . 0 1205, 0
45=z955. 0 0. & 14 1 1=59. 0 - -
SEES5335. 0 0.3 14 1 1527, 0 — —
BElsss. 0 55,1 14 1 1=Z59. 0 - -
2455 TE. O =1 = 14 1 15160 — —
A4S FEEE. O 95,4 14 = 1S40, 0 155z, 0 1191. 0
5325250 Gz 5 14 1 1549 0 — —
=ZF¥FET.0 51,1 14 1 1950, 0 - -
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Type 5 Radar Waveform_16

Bur =it Pal Chirp Homber of
DEE=et '-‘1:; 'y 3 Taidth Pul=s=es pexr |[PET—1 (u=) |[PEI2 (u=x) |[PEI—3= (u=s)
= * = {EH= ) Bor=st
ZEOSST. 0 T4, 5 135 = 1555, 0 195z 0 —
415444 0O ar. 3 15 IS 15110 197&. 0 1449 0
s091s1 .0 (1= 1= 1 1010, 0 — —
S941.0 Tr. & 15 = 1F7vz. 0 125=. 0 —
19a7E1. 0 = R = 15 = 1s05. 0 1985, 0 1z01. 0
FP1395.0 1.2 13 1 1=47. 0 — —
BS4TrT. 0 B3.0 15 1 1vFiz. 0 — —
TraeTrli. 0 T1. 7T 1= = 1555, 0 l1ss4. 0 —
1730035 0O a5 = 135 5 1451 .0 17550 17260
IET=E91.0 BZ. T 15 1 17750 - -
BEEQE11.0 g2, 9 13 = 1795, 0 1505, 0 —
TEz45S. O G5, 9 15 IS 1500, 0 100, 0 1555. 0
149974, 0 (=T S 15 1 1109 0 - -
S4zZE52. 0 TOo. 8 135 = 1758, 0 19321 . 0 —
BS3ds1=. 0 94 = 15 IS 1==0. 0 157&5. 0 151s. 0
Type 5 Radar Waveform_17
Burs=st Ful Chirp Humber of
DEf<et "ﬂ:]‘i c 3 ¥idth Folcex per |[PETI—1 f(u=s) |[PRT—2Z {(u=) |[PET—3 (u<)
(=) * = {NH=) Bur=t
H137V30.0 Bl1. 7 10 1 1739.0 - -
157345, 0 B7.3 10 =2 1553. 0 1525. 0 -
395513.0 53. 4 10 3 1794, 0 1227.0 1552, 0
541025, 0 g0, 8 10 =2 1453, 0 1475. 0 -
S84Z215. 0 BoZ 10 1 1391.0 - -
127595, 0 2.9 10 =2 1541. 0 1152. 0 -
359304, 0 BG. G 10 1 1905, 0 - -
5123656, 0 BG. 3 10 1 1101.0 - -
553923, 0 BZ2. G 10 1 1925, 0 - -
ayaz0.0 BG. G 10 1 1573, 0 - -
339z209.0 93,1 10 3 1259, 0 14735, 0 1447. 0
BE31Z220.0 83.3 10 =2 1536, 0 1703, 0 -
Type 5 Radar Waveform_18
Buax =t ol Chirp Humber of
?iiﬁet widrh (o=} '1.1:5‘1 gi::s per |FRET—1 (m=3 |FPET—F {(o=) |FPET—F (o=}
491 FEE. O ErN] f=1=] = 1545, O 1Z95. O 1524, O
AOTIS. O S5, 1 =1=] = 1O0z0. O 1OST. O 1155, O
185643 0 s0. 0 =0 = 1154 0 1aSa. 0 —
SzosaT. O a0. s =0 = 17E5. 0O 199z, O —
ATSE54. O 7a. =2 =0 = 1558, O 1257, 0 —
ZEEEE. O EENG =1=] = 1515, O 1400, O 1705, O
1ETELZ . O a0 4 =0 = 1E0s. 0 Lass. O —
S13EE99. 0 561 =0 1 1=46. 0 —
ASS095. O EERE] =0 1 1926, O —
EOSE. O F1.5 =1=] = 135S, O 1390, 0O —
1LamoaEE . 0 o T =0 = 1045 0 1Lazs. 0 —
oEnss. 0 8y. 8 =0 = 1=41. 0 1381 .0 1vvr. 0
ATATLT. O Fa. 0 =0 = 1074, O 1546, O —
ES4E05. O 7.5 =1=] = 1513, O 109, O —
1=16E44 0O EENE =0 = 11=a 0 1LT=s. 0 1a5=. 0
2¥ys5988. O EENE] =0 = 16558 0 1a05. 0 1713 0
AZ107E. O aa. 3 =0 = 1O02=. O 1114, 0 1Ls05, O
ESSZSS. O 83. & =1=] = 1150, 0O 1E26. O 1415, O
1145100 5.5 =0 1 1za7T. 0 — —
ZE9100. 0 ¥=. T =0 = 1349 0 1366 0 —
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Type 5 Radar Waveform_19
B =1t Pl Chirp Homhber of
DEf=et i drh P 3 (Wideh Pulses per |[PET—1 (us) |[PET2 {(us) |PET-—3F (a=x)
[ * -= = Bar =1t
arEEss. O == 15 = 1426, O 1@, 0 —
SE7¥Si1S4. O EERE] 15 1 1=04. O — —
101Eme. O EENC] 15 = 1734, 0 100z, O 104, O
ZES1Z0. 0O EERE] 1= = 1oEs. O 1m=m. 0 1545, O
A0S 7O 0 a0 5 15 = 1754 0 15654 0 —
EESTAS. O sz, S 1= 1 1=Es. O — —
araaT 0 53 = 15 1 1259 0 — —
ZE4457. O EERE] 15 = 1599, 0 140=. 0 159s. O
SEFS14. 0 ST, S 15 = 15=7. O 1551 . 0 —
SEES7TE. 0 =R 15 = 15153, 0 1506, 0 1=E1. 0
SEIEES. 0 s7.0 15 1 1onEd. O — —
Z1E305. O FO. 7 15 = 1544, O 1552, O —
ZESoze. O EERC] 1= = 17E¥. O 1173 0 1==7. 0
SEOT48 0 s8N0 15 = 1751 0 154> 0 —
AE1DE. O 5. 4 1= 1 1514, 0 — —
19FEFI 0O S5 T 15 = 1165 0 1195 0 1z3m 0
=FEO0T1a. O EERE 15 1 1735, 0 — —
SOzi0. O Sz, 1 15 = 159z, O 1553, 0O —
ZEEsm. 0 E=RE 15 1 1551, 0 — —

Type 5 Radar Waveform_20
Bar = T ol Chirp Womber of
OFfzet widih 3 |Wideh FPuls=es per |[FET—1 {(u=) |[FPET—=Z2 {(a=) |[FEXT—F {(a=)
(o= = = [ s T ] For=1it
1583965, O S0, 4 17 = 1542. 0O 1254, 0 1516, 0
SASTES. O EENEY 17 = 1720, 0 1520, 0 1=0z. 0
S1z017. 0O U 17 1 1Z6E6E. 0 — —
FOsE. O @1, = 17 = 165, 0 1459, 0 1503, 0
1S5744. O =N 17 = 1551, 0 1925, 0 —
== =] El] 17 = 1951, 0 1557. 0 1051. 0
459591, 0 95, 17 = 1904, 0O 1571.0 14065, O
E5ST19. 0 5z, & 17 1 1065, 0 — —
145910, O S50 17v = 1=Z35. 0 1466, O 1156, 0
clut=t=T-Tu ] i< 17 = 1492, 0 1742. 0 —
4ATE1ITFE. O === 17 1 1386, 0 — —
SSEE51. 0 ST.0 17 = 1013, 0 1053, 0 —
1=95a3. O S0 = 17 = 1417.0 1140.0 —
FEoaTl 0 EERE] 17 = 124 0 119E. 0 1116 0
451865, O ¥O. = 17 = 1150. 0 1166, 0 —
S1Zm4=. 0O == 17 1 1071.0 — —
109245, O S5, 1 17 = 186, 0 13S0, 0 1045, 0O
&R TS, 0 S5 65 17 = 1505, 0 1504. 0O 1755, 0

Type 5 Radar Waveform_21
Bor=t FPol=e Chirp Homber of
DEfFset ¥idth ¢ ) Fidth Pul=e= per |[PET—1 {(u=}) |[FET—Z {(u=) |[PET—3F {(a=)

ns * = x Bor=t

E54190. 0 S4.1 135 e 1115. 0 15v9. 0 15550
re043s. 0 =1 =] 13 3 157vs5. 0 17550 15000
11E615. O 50, 4 13 1 1051. 0 — —
FZ1v45. 0 Qs 2 13 3 1557.0 137Fr. 0 17540
EZ52aT. 0 az 1 13 3 1917.0 153=2. 0 170s. 0
5407, 0 8554 13 3 1avs. 0 1505 0 17550
§2961.0 62. 0 13 1 1913. 0 - -
ZavRS1.0 =T 15 1 14550 — —
EO5103. O 55, 9 15 1 1386, 0 — —
TOSETS. O == Jec 1= bc] 15550 15530 15240
G4413. 0 Ea. o 15 1 1755, 0 - -
ZFzZovyse. 0 [T ] 135 1 1117.0 - -
479413, 0 5z2. 9 13 1 1605. 0 — —
B54355. 0 855 13 3 15090 13590 1547. 0
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Type 5 Radar Waveform_22
Buour=t Pal Chirp Homber of
DEFfF=et "d:]‘: 'y 3 Tidth Pul=e=s per |[PET—1 {(u=) |[PET—2 {(u=) ([PET—3 {(u=)

ms * = 4 1 F) Bor=tit

IEESE. 0 BET7. =2 1= 1 100s. 0 — —
=505, 0 TI3. 9 135 = 1759, 0 1=Z1s. 0 -
4225 T7E. 0 53,2 13 = 1704, 0 1153. 0 —
E15592. 0 S5, 4 1= = 14v0o. 0 1197.0 1=45. 0
1=2415. 0 51,7 135 1 1541 . 0 - -
205195, 0 55,3 13 1 1052, 0 — —
FEEES41. 0 [ST= =] 1= = 1545, 0 1455, 0 -
593553, 0 55. 3 135 1 1145. 0 — —
Tod4544. 0 85,2 13 3 11r72.0 1192.0 1552, 0
1S5=1vF=.0 a0, = 135 1 1v45. 0 - -
Srs0l14. 0 =T 135 = 1725, 0 1552 0 —
ES9Z3s9. 0 =50 1= 1 17E5. 0 — —
TESZET. O a0, 9 135 1 145=. 0 - -
157295 . 0 T3, 92 13 = 1547. 0 17410 —
SFE0545. 0 L= =] 1= = 15355, 0 1105. 0 17=7.0

Type 5 Radar Waveform_23
Bor=t Pal Chirp Homber of
OFfzet -i ‘1:].: C » Tideth Pulse= per |[FET—1 {ua=<) PRT—2 (o=} PRT—3 {a=<)
{as) * -= (M=} Buoarst
5103544 0 TE. B 15 = 1551. 0 1545, 0 —
EB9Z0Z25. 0 TS, 2 15 = 1Zs1 .0 13590 -
125059, 0 s51.3 15 1 1553, 0 — —
SOTFOz0. 0 TO. 4 15 = 15=27. 0 115s. 0 —
459013, 0 50. 1 15 1 1vzz. 0 — —
[Si=t=lsi=lay ] TE.1 15 = 1305, 0 1095 0 —
10355351, 0 S22 3 15 = 11920 1045 0 —
Z54055. 0 294 15 S 1511. 0 1419 0 1454 0
454525, 0 b= I | 15 =] 1525, 0 15035, 0 1vs=. 0
E45315. 0 9z 3 15 3 1245 0 15750 158s7. 0
S1251.0 TE. 4 15 = 1540, 0 10va. 0 —
ZEE315. 0 e,z 15 = 143510 1ve7.0 —
444574 O 55,1 15 1 1111. 0 — —
BEE18E. O TS. 5 15 = 1055 0 141z 0 —
BES9S0. 0 [S1SgRC ] 15 1 120z, 0 - —
Z394657. 0 92T 15 =] 1674, 0O 1955, 0 12535. 0

Type 5 Radar Waveform_24
Burst Pulse Chirp Humber of
Dffset widih ¢ 3 Width Pulzes per |[PRET—1 (a=s) PRT—2 (u=) PRET—3 (u=s)
{a=) * o= (M ) Buour=st
4SE0S55. 0 Ti.1 13 = 1002, 0 1z=z1.0 —
E90Z52. 0 a0, 5 135 1 1175.0 - -
41790, 0 To. 2 13 = 19550 17292.0 —
249545, 0 L =t= =] 13 1 1052, 0 — —
AEEEES. O = L] 13 b 1051. 0 11=1.0 1555. 0
BESSTE. O S0, 1 135 = 10z2&. 0 10%7.0 -
15309, 0 82.0 13 = 1503. 0 1112.0 —
ZEE953S. 0 95. 0 13 3 Zooo. 0 1107.0 17230
430755, 0 T T 135 = 1445 0 12850 -
375440 G7. 5 13 = 19586, 0 15524 0 —
S45455. 0 TE. T 13 = 1033. 0 142920 —
195345, 0 a5d. 5 13 1 1251.0 — —
405551 .0 50.1 135 1 11=27.0 - -
s12101. 0 TE. 2 13 = 1zz2.0 Z000. 0 —
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Type 5 Radar Waveform_25

Burst Pul Chirp Humber of
Dff=zet I'ﬂ:]‘: {u=) ¥idth Pul=es per |[PET—1 f{us) |[PET-2 {(us) |[PET-—3 {(u=)
(=) * = (HH=z ) Burst
1044033, 0 i1 5] 2 1014. 0 1517. 0 -
21a7vil. 0 T7. 5 5] 2 107z, 0 14532. 0 -
452595, 0 55,1 5] 3 1719, 0 1559, 0 1687. 0
47230, 0 Fr.a 5] 2 1EV&. 0 1553, 0 -
1010115, 0 55. 5 5] 3 1057. 0 1505. 0 1573, 0
157295, 0 G51.0 G 1 1952. 0 - -
4R0551. 0 95,7 G 5] 1157. 0 1307. 0 13135.0
F136R5. 0 94 5 =1 S 1997 .0 1645 0 1296 0
9300520 B2 T =1 1 1487. 0 - -
154755, 0 EY. &5 =1 1 197¥3. 0 - -
4155843, 0 4.9 5] 2 1034. 0 1003, 0 -
Type 5 Radar Waveform_26
BFor=it Pul=e Chirp Homber of
C{Iff-}set Tidith (u=) Ta ﬂ.t]):l gulsis per |PBEI—1 (u=}) |[PEI—2 (u=) |[PEI—3 (u=)
00055, O 4. 5 14 =2 1435 0 1214 .0 —
E954595 . 0 o, 9 14 = 1511.0 101=.0 —
S93s2. 0 95,1 14 3 11450 11s1. 0 143=. 0
2525050 554 14 e 10i15. 0 14559 0 1750, 0
474551 .0 S50 1 14 b 19=4. 0 1515, 0 1951. 0
[ iy SH | 535 14 1 1avz. 0 — —
B5549. 0 = =] 14 = 1584, 0O 1501. 0 —
Z2EQ1 TS, O F==] 14 = 1105, 0 1z04. 0 —
451505, O aGT7. 5 14 = 1215 0 15550 —
Ed44511 .0 95, 2 14 S 1401. 0 14=4. 0 1455, 0
41931.0 54 5 14 1 1352.0 — —
2534555, 0 S0, T 14 S 1455, 0 1945 0 16635, 0
49404 0O 541 14 1 1z0s. 0 - -
GZ0555. O =P < 14 3 13365.0 1730.0 1454 0
17995 0 9z 4 14 S 1vS1.0 1v9s5. 0 1155. 0
Type 5 Radar Waveform_27
Burst Ful Chirp Humber of
DFfFf=zet "ﬂ:ﬁ 'y 3 Tidth Ful=es per |FPRI—1 {n=) |[PET—Z {(us) [PET—3 {(u=)
(u=) * o (M) Buorxct
ZE4112. 0 Q5. 3 =) 3 1694 0 10z7.0 1231.0
EQ¥O7Z. 0 553 =) 1 1220, 0 - -
T45T711.0 ar. T =] 3 1554. 0 1776, 0 1321.0
S90100. 0 2.4 =) 2 1143. 0 1530. 0 -
234997.0 3.3 = 1 1225, 0 - -
478475, 0 57,7 = 2 1575, 0 11z9.0 -
F16925. 0 o9 2 =) 3 1833. 0 1523. 0 1287. 0
QE0222. 0 T1.3 =) =4 1667. 0 1023 .0 -
205055, O 552 = 1 155Z2. 0 - -
4457920 aa.0 =) 3 1556. 0 11550 1r750.0
557114, 0 911 = <] 1525. 0 1557. 0 1901. 0
92a197.0 G552 =) 3 1491 0 1z10. 0 1332. 0
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Type 5 Radar Waveform_28
Buouxrst Pl Chirp Humbexr of
ODEfF=et '-‘1:; { 3 Waidth Pul=e= per |[PEIL—1 (u=) |[PET—2 {(u=) (PREIT—= (u=s)
{a=x) * o= (EH=x ) Buour=si
1395535, O az. 1 14 e 1507. 0 14160 1714, 0
Fo2EZ44. 0 95 3 14 = 1673, 0 1999 0 1=ZvF1.0
5545 T. 0 =40 14 ] 1104, 0 1457, 0 1959, 0
Tloszs. 0O TE. T 14 = 1265, 0 1959, 0 —
115502, 0 b= I = ] 14 ] 1v&7. 0 15920 1540, 0
F1lo0ss. 0O s2. 5 14 1 1263, 0 — —
501591 .0 o4, 9 14 ] 1565, 0 15399, 0 1474, 0
95992 0O TO. T 14 = 1E585. 0 1405, 0 —
D454, 0O 59,1 14 1 1Z65. 0 - -
25852470 =50 14 = 1=z85. 0 1320 1151. 0
479599 0 59. &6 14 1 150z, 0 - -
GF1399. 0 S5, 5 14 3 1344, 0 1093, 0 1450.0
EBSE5E5. 0 [ST- BRG] 14 1 1059, 0 - -
2510352, 0 Q5. 0 14 3 1957. 0 1552, 0 1273.0
4545710 S5, T 14 ] 1vs0. 0 11==. 10 1541. 0

Type 5 Radar Waveform_29
Bor=t Pl Chirp Homber of
Off=zet '-‘1:;: C 3 Tidth Pul=s=e= per |[FET—1 f{(u=) ([PET—= {(u=) |[FRET—F (u=)
[ * -= [s 1Ty Bur=t
SOS9ST. O S22 8 15 = 15924 0 19710 —
41525, 0 TR. 5 15 = 15300 17v1.0 —
ZEEEET. 0 TZ. 5 15 = 1570, 0O 1919 0 —
403353, 0 S5 5 15 =] 1720 151 7.0 140z 0
554735, 0 4.0 15 = 1241 . 0 1575 0 —
192459 0 S 4 15 =] 1571. 0 1s77. 0 159270
ZO0453. 0 E= L 15 =] 15292, 0 1052 0 1237.0
SSEE94. 0 54, T 15 1 1515, 0 — —
BEE533T74. 0 S22 3 15 = 15355, 0 1044 0 —
T4S270. 0 (=l 15 =] 1471. 0 1ovo. 0 14z2. 0
175305, 0O S0, 4 15 = 1599 .0 1497 0 —
SE01S1. 0 54 = 15 1 1735350 — —
541597, 0 57.1 15 1 1551, 0 — —
FZl1z1v7.0 TE. 4 15 = 1955 0 1735, 0 —
155550. 0 L= 1= 15 =] 1090 0 17110 131920
SEEST0O.0 S0, 9 15 = 17sS2. 0 1549 0 —
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Radar Type 6 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
0 5492.0 1 15 5570.0 1
1 5497.3 1 16 5575.4 1
2 5502.6 1 17 5580.8 1
3 5507.9 1 18 5586.2 1
4 5513.2 1 19 5591.6 1
5 5518.5 1 20 5597.0 1
6 5523.7 1 21 5602.3 1
7 5529.0 1 22 5608.0 1
8 5534.3 1 23 5613.6 1
9 5539.6 1 24 5619.2 1
10 5544.9 1 25 5625.0 1
11 5550.2 1 26 5631.0 1
12 5555.5 0 27 5636.6 1
13 5560.8 1 28 5642.2 1
14 5566.1 1 29 5648.0 1
Detection Percentage (%) 96.7%
Type 6 Radar Waveform_0
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- ==1-1 === =545 T =415 ===
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i =1 ==d =3 =51 5==T S45= [=1=imi=]
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ra s == [=1=0 = [=pe b E B SE=s15 s50=
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i s=7= L= N =1 =rFls L= == [=1=1=1=4

B s501 E555 sS4 01 [ =pe = = 5475

= =1 =STrFO= =451 [=1=1=c S50
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Type 6 Radar

Waveform_1

[ —
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L== =4 E=0= =1 ==1=1 [=1=t=m] E=1s (=1 =
[} (=1 1= =54 E=S0 (== =1 E45S
[ =1 =4 [=t-%=1m] [=1=1 = EETT [=1=1=1-8 E5S1
ran | I=T-3=1=1 =g =] 550 I=-3=1=) 5E5=1
= [=r=d{==1m] [=1=1-8 [=1==d=] 5471 [=1=1="n }
Hix 53551 535352 57135 [=1=1. 1. | =T 3= hr
=155 [=1-1==1-8 == =8 =1 S= 8 =1 =14 [=1=frae=
= =1 =g =544= [==a =1 E=E== ==+ =ira
o, ES5== = T-m) [=1=ra=] [ =0 e [=1=1= 1

Type 6 Radar Waveform_2
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Type 6 Radar Waveform_3
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Type 6 Radar Waveform_4
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Type 6 Radar Waveform_5
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Type 6 Radar Waveform_7
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Type 6 Radar Waveform_8
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Type 6 Radar Waveform_9
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Type 6 Radar Waveform_10
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Type 6 Radar
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6. CONCLUSION

The data collected relate only the item(s) tested and show that the device is in compliance with Part

15E of the FCC Rules.

The End
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Appendix A : Test Setup Photograph

Refer to “2202TW0101- Setup Photo” file.
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Appendix B : External Photograph

Refer to “ 2202TWO0101-External Photo” file.
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Appendix C : Internal Photograph

Refer to “ 2202TWO0101-Internal Photo” file.

FCC ID: 2AXJ4EAP670 Page Number: 182 of 182



